
Quit@D;

H* MATRICI TRIDIAGONALI *L

H* ESERCIZIO 6.6.6a *L

n = 3;
a = 881, -1, 0, 0<, 8-2, 4, -2, -1<, 80, -1, 2, 1.5<<;
MatrixForm@aD
1 -1 0 0

-2 4 -2 -1

0 -1 2 1.5

l@1D@1D = a@@1DD@@1DD;
u@1D@2D = a@@1DD@@2DD �l@1D@1D;
z@1D = a@@1DD@@n + 1DD �l@1D@1D;
For@i = 2, i £ n - 1, i++, l@iD@i - 1D = a@@iDD@@i - 1DD;
l@iD@iD = a@@iDD@@iDD - l@iD@i - 1D *u@i - 1D@iD;
u@iD@i + 1D = a@@iDD@@i + 1DD �l@iD@iD;
z@iD = Ha@@iDD@@n + 1DD - l@iD@i - 1D *z@i - 1DL �l@iD@iD

D
l@nD@n - 1D = a@@nDD@@n - 1DD;
l@nD@nD = a@@nDD@@nDD - l@nD@n - 1D *u@n - 1D@nD;
z@nD = Ha@@nDD@@n + 1DD - l@nD@n - 1D *z@n - 1DL �l@nD@nD;
Clear@xD;
x@nD = z@nD;
For@i = n - 1, i ³ 1, i--, x@iD = z@iD - u@iD@i + 1D *x@i + 1DD

For@i = 1, i £ n, i++, Print@x@iDDD

0.5

0.5

1.

a1 = 881, -1, 0<, 8-2, 4, -2<, 80, -1, 2<<;
b = 80, -1, 1.5<;
x = 8x1, x2, x3<;
Solve@Dot@a1, xD � b, xD
88x1 ® 0.5, x2 ® 0.5, x3 ® 1.<<

H* ESERCIZIO 6.6.6d *L



n = 3;
a = 881, -1, 0, 0<, 8-2, 4, -2, -1<, 80, -1, 2, 1.5<<;
MatrixForm@aD
1 -1 0 0

-2 4 -2 -1

0 -1 2 1.5

l@1D@1D = a@@1DD@@1DD;
u@1D@2D = a@@1DD@@2DD �l@1D@1D;
z@1D = a@@1DD@@n + 1DD �l@1D@1D;
For@i = 2, i £ n - 1, i++, l@iD@i - 1D = a@@iDD@@i - 1DD;
l@iD@iD = a@@iDD@@iDD - l@iD@i - 1D *u@i - 1D@iD;
u@iD@i + 1D = a@@iDD@@i + 1DD �l@iD@iD;
z@iD = Ha@@iDD@@n + 1DD - l@iD@i - 1D *z@i - 1DL �l@iD@iD

D
l@nD@n - 1D = a@@nDD@@n - 1DD;
l@nD@nD = a@@nDD@@nDD - l@nD@n - 1D *u@n - 1D@nD;
z@nD = Ha@@nDD@@n + 1DD - l@nD@n - 1D *z@n - 1DL �l@nD@nD;
Clear@xD;
x@nD = z@nD;
For@i = n - 1, i ³ 1, i--, x@iD = z@iD - u@iD@i + 1D *x@i + 1DD

For@i = 1, i £ n, i++, Print@x@iDDD

0.5

0.5

1.

a1 = 881, -1, 0<, 8-2, 4, -2<, 80, -1, 2<<;
b = 80, -1, 1.5<;
x = 8x1, x2, x3<;
Solve@Dot@a1, xD � b, xD
88x1 ® 0.5, x2 ® 0.5, x3 ® 1.<<
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